Lattice Multiplication (A)

Use lattice multiplication to find each product.

5 2
4 6 5 1
2 9 5 5
5 4 7 7
3 6 9 5 4 5 5 0
) 9 5 2
5 8 0 5
4 2 9 1
36 x 254 — 95 x 982 = 45 x 509 = 50 x 251 =
3 6 7 8 1 ) 8 9
4 7 7 1
4 1 3 7
5 0 3 3
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Lattice Multiplication (A) Answers

0 5 0

36 x 445
16,020

144

Use lattice multiplication to find each product.

9 9
5 5
6| 4/ 4
8 8
8 ] ]
3 3
7 6 6
0 6
99 x 694
68,706
9 5
s T4
9 1 5
7 4
3 2 0
1 1
2 8 0
9 0
95 x 982
93,290
7 8
4 5
5 9 6
0 0
5 7 8
0 0
3 0 0
8 0
78 x 710
55,380

1 /3 S 2
° 55 55 O0 5021
9 4 13 s - %
4,5 5 s 05
4 6 4 7 . :
0 3 9 1 i 47
2 9 -
= 97 x 557 = B
54,029 52 x 157 =8, 164
4 5 s 0o
o AR 0
2 0 5 1 0 0
8 0 70 0 > 10 S
2 0 0 ) 5 0
2 3 /14 9 0 10 |
0 5 50
= 45 x 509 = 50 x 251 =
22,905 12,550
1 2 8 9
0 10
7 0 1 4 1000
o, 1 4 - %
1 0T g SR
9 8 6 : .
0 010 14 A AVAE
3 3 6 . g
9 6
~ 12x783=19,396 ?g 5 173 =
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Lattice Multiplication (B)

50 x 797

81 X

438

70 X

493

Use lattice multiplication to find each product.

45 x 946

14 x296 =

35 %207 =

79 x 238 =

22 x 111 =

42 x 281 =

19 x 841

91 x 466

84 X

175
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Lattice Multiplication (B) Answers

Use lattice multiplication to find each product.

5 0 4 5 7 9 1 9
3 10 7 3 4 9 1 1 ) 0 07
3L 5 0 a4, 6|/ 5 1 4/ 8 1 8l 2
4 /10 9 I 2 4 2 /12 3 0 /13
9, 57 0 2L 6|7 0 8 1 7 5., 4, 6
3 10 7 2 3 6 5 /17 3 0 0
8l 5 0 5, 4,7 0 8l 6| 2 9 1 9
5 0 7 0 0o 2 7 9
50 x 797 = 45 x 946 = 79 x 238 = 19 x 841
39,850 42,570 18,802 15,979
8 ! 1 4 2 2 o 1
%% 2044 0 , 0 | 4%604
A0 o, 2|/ 8 o, 2 2 =10
51,7 4,/ 3 3 013 9 010 1 217 4 6
10 4, 9/ 6 20, 21 2 =10
4 4 8 8 012 6 0 10 1 4 4 6
—3 1 6 4 a2 2 g
4 4 4 2
81 x 438 = o . 91 x 466
35,478 14 X296 =4, 144 22 x 111 =2,442 42,406
27 00 2 04 02 08 04
3L, 8 0 4 00 61 0 2 1 8l 4 2 | 8| 4
46 %0 09 70 00 00 132168 45 628
2 0 3 51 0 0 1 4 /12
5 1 0 5 | E 7 P ) 710, 0
1 0 5 0 2 0 0
70 x 493 . 42 x 281 = 84 x 175
34,510 35x207=7.245 17 g2 14,700
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Lattice Multiplication (C)

86 X

810

30 x

594

53 X

818

Use lattice multiplication to find each product.

4 3 3 9 5 3
6 6 5
3 1 7
7 2 4
43 x 637 = 39 x 612 = 53 x 574 =
9 4 g 1 .,
1 9 3
6 1 3
1 1 9
94 x 161 = 81 x 911 = 79 % 339 —
8 2 1 6 8 5
5 1 8
9 5 6
2 4 1
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Lattice Multiplication (C) Answers

Use lattice multiplication to find each product.

4 3 39 5 3
2 1 6 ZE 6 2 1 5
20, 4, 8 20,/ 8 4 3,51 5
1 10 3 0 10 | 3 12 7
121 9 3,3 9 o, 5/ 1
2 2 7 0 1 ) 2 4
3, 8l 1 8/ 6|/ 8 a0l 2
9 1 6 8 2 2
43 x 637 = 39 x 612 = 53 x 574 =
27,391 23,868 30,422
09 04 78 01 2 2
1 9 4 ! 7 2 9 9 00 60 . 3
5 /12 6 0 10 1 1
5|, 4, 4 38 1 s 3
0 10 | 0 10 | ] 1 )
11,9/ 4 718, 1 A 9
3 4 9 1 —

94 x 161 = 81 x 911 = _
15’134 737791 22X339—7458
8§ 2 L6 8 5
4 1 6 4
409" 00 10 o ! 1/ 4/ "

A AR SV4E 413 e
8 2 8 ) 5 0 5 3 8 0
L0 2 0 2 010 11
5 6 4 4 4 4 4 1 ] 5
4 4 C ) 8 5
82 x 592 = . 85 x 861 =
48,544 16 X 154 = 2,464 73,185
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Lattice Multiplication (D)

Use lattice multiplication to find each product.

39 5 0 5 0 7 4

7 2 6

7 9 9

6 0 7
39 x 776 = 50 x 290 = 50 x 697 = 74 x 845
6 6 4 7 5 5 6 5

7 7 3

7 4 5

7 3 2
66 x 777 = 47 x 743 = 55 x 352 = 65 x 350
1 8 L 1 5 30

6 . 8

6 A 6

4 3 2
18 x 664 11 % 743 — 15 x 862 = 30 x 366
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Lattice Multiplication (D) Answers

39
2 6
31,11 3
2 6
o 1|/ 3
ZE
20, 8l 4
6 4
39 x 776
30,264
6 6
4 /4
5,7 2| 2
4 /)4
1 21/ 2
4 4
ol 2l 2
8§ 2
66 x 777
51,282
1 8
0 /14
11 6, 8
0 /)4
1/ 6|/ 8
0 /13
o,/ 4/ 2
5 2
18 x 664
11,952

Use lattice multiplication to find each product.

5 0 5 0 7 4
1 0 ) 3 /10 6 5 3
1 0, 0 3L, 0 0 6, 6|/ 2
4 /10 9 4 0 9 2 1
4,57 0 a7 5,7 0 217 8 6
00 0 3 0 7 3 2
5, 0,7 0 8 57 0 5 570
0 0 5 0 3 0
50 x 290 = 50 x 697 = 74 x 845
14,500 34,850 62,530
4 7 5 5 6 5
2 4 7 1 1 3 1 1
3 8l 9 1 5,5 217 8 5
1 2 4 2 /]2 5 3 12
4, 6|/ 8 9, 5,/ 5 2070, 5
1 2 3 1 1 ’ 0 0
9 2 1 3, 07 0 71, 0, 0
2 1 6 0 5 0
47 x 743 = 55 x 352 = 65 x 350
34,921 19,360 22,750
{ { 01 45 03 00
010 717 8 o 8 i,/ 9 0
o, 1/ 7
10 0 /13 6 1 0
g Ny 4 2 6 0 0 8 0
10 0 1 5 1 0
| X . 3 9 2 0 9 8 0
4 30 8 0
. 15 x 862 = 30 x 366
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Lattice Multiplication (E)

63 X

669

76 X

138

69 X

783

Use lattice multiplication to find each product.

57 X

821

68 X

197

16 x

696

= 55 x 786
9 7
1
9
7
= 97 x 466
8 6
6
9
6
= 86 x 837

18 x 558

— 64x114=

11 x908 =
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Lattice Multiplication (E) Answers

Use lattice multiplication to find each product.

4 0 6 4 5 5 1 5 0
: ] 2 4 4 8 0 4
o, o 4 3,70, 0 o, s 0
0 10 3 /13 0 16
15, ! oL o 0| o, 8|,/ 4
57 x 821 = 55 x 786 = 18 x 558
46,797 43,230 10,044
6 8 9 7 . A
0 0 3 2
L6, 5| ! Aol el # 00 60 i
yAVAE ALK 0 /0
e K 11 6| 4
VT A >
- A o, 4 6
b0 v 9 6
68 x 197 = 97 x 466 = B
13,396 45,202 64 x 114 =7,296
i 5 © 11
V4K 6 /T4
Ke/q" eVl 00 90 9
Y OVIE VA E 0 /0
R W o8 o, 0o/ 0
YAVAL T 0 70
i, "6 6 o, "6l 2 o
3 6 8 2 g g
16 x 696 = 8 x 837 = B
11,136 71,982 11 x908 = 9,988
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Lattice Multiplication (F)

79 X

878

57 X

820

95 X

639

Use lattice multiplication to find each product.

24 x 343 =

50 x 859

60 x 855

i 4 5 3
3 2 2
4 2 0
3 6 8
2 0 3 3
8 5 ’
5 3 6
9 0 2
= 20 X 530 = 3350068 =
0 0 1 5
8 5 |
5 3 5
5 1 3
= 90 x 53l 15 x 128 =
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Lattice Multiplication (F) Answers

Use lattice multiplication to find each product.

2 4 4 4 15 03
2
0 1 A 5 010 1 5 0
o 6,/ 2 o 8,8 A5
0
01 4 010 /] 5 00
8, 8/ 6 o, 8,8 5
8
011 A 5 > 2 6 o o
2 6/ 2 o 4, 4 —
3 2 4 4
53 x 208 =

T 24 %343 =28,232 44 x226=9,944 11,024

45 00 12 00 3 3
J 008 0 0 00 60 |2
yAVAE A I 1
2 5, 0 o, 6, 0 e 86
4 0 9 0 0 0 . :
ol 5 0 6,/ 0, 0 4 |8
oY vy 4 4
= 50 x 859 = 20 x 530 B
42,950 10,600 33 X268 = 8,844
46 00 49 00 15
s s, o ® W5 03 0,10
o/ 1/ 5
YOVEE 20013 0 /1
1 0 0 7 7 0 )
127 0
3 /10 ] s 0 10 2
370,70 71,79, 0 ol e ik
0 0 9 0 Y
— 60 x 855 = 90 x 531 = B
51,300 47.790 15%x 128 = 1,920
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Lattice Multiplication (G)

08 X

404

48 X

218

38 X

327

Use lattice multiplication to find each product.

93 X

895

35 X

536

60 x

394

= 56 x 363

= 87 x 244

= 98 x 707

= 63 x 804

= 63 x 506

— 23x382=
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Lattice Multiplication (G) Answers

Use lattice multiplication to find each product.

9 3 5 6 6 3
7 /12 3 1 1 3 4 /12 2
8l 2| 4 21/ 5 8 5 8l 4
8 12 9 3 /13 6 0 0 0
3 | 7 o, 0,/ 6 0, 0o 0
4 I 5 I I 3 2 I 4
2 5 5 3L 5 8 6/ 4/ 2
3 5 2 8 5 2
93 x 895 = 56 x 363 = 63 x 804 =
83,235 20,328 50,652
3 5 8 7 6 3
1 2 5 1 1 ’ 3 1 5
1 5, 5 21,7 6|/ 4 3,7 0 5
0 1 3 3 /2 4 0 /10 0
8, 9 5 1 21, 8 | 0, 0
1 3 6 3 /12 4 3 1 6
7 8 0 21,7 21/ 8 8| 6|/ 8
6 0 2 8 7 8
35 x 536 = 87 x 244 = 63 x 506 =
18,760 21,228 31,878
6 0 9 8 5 3
| 0 6 /5
2 8 0 3 6 3 6 ! 0 0 6 0 o 3
5 /10 9 0 10 0 1 5
3 4,0 9 0, 0 o ¢ 4 8
2 10 4 6 /15 7 5 ) s
6,/ 4 0 2 3 6 ; 4 6 2
4 0 8 6 —
60 x 394 = 98 x 707 = .
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Lattice Multiplication (H)

Use lattice multiplication to find each product.

3 6 1 8 7 7 2 4
9 5 6
0 9 9
7 7 4
36 x 907 = 18 x 597 = 77 x 694 = 24 x &8I3
’ 3 6 2 2 5 8 2
3 7 8
) 0 2
) 8 2
6 7 5 3 2 8 8 8
7 1 3
1 4 7
4 0 0
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Lattice Multiplication (H) Answers

23 x 322 =77,406

Use lattice multiplication to find each product.

0 14 5 4 /04
1 5 5.7 21 2
0 7 9 6 16
0o, 9 3L, 3 3
0 5 7 2 2
77 41 8|/ 8
4 6 3 8
18 x 597 = 77 x 694
10,746 53,438
6
4 1 7 1 N4
a1/ 2 21,7 6|7 0
0 0 0 0 1
3L, 0 o 4 0
4 1 3 0 1
8l 8 5., 4 0
9 6 5 0
62 x 708 = 25 x 822
43,896 20,550
> 0 12
010 1 1 6|/ 4
o, 5
5 1 I
Sy 4 0, 4, 6
0 10
010 0 3L, o, 0
4. 0 A
2 0
28 x 370
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Lattice Multiplication (I)

57 x 126 =

76 x 693

84 x 947

Use lattice multiplication to find each product.

4 9
1
2
6
49 x 192 =
9 6
6
9
3
= 96 x 817
8 4
9
4
7
= 84 x 417

36 x 422

40 x 357

= 50 x 484

— 20x272=
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Lattice Multiplication (I) Answers

5
0
0 7
1
7 4
3
1 2
8
57 x 126 =17,
7
4
5 6
6
2 4
2
6 8
6
76 x 693
52,668
8
7
7 6
3
9 6
5
5 8
4
84 x 947
79,548

Use lattice multiplication to find each product.

0

84 x 417

35,028

182 49 %192 =9.408

= 21 x469=09,849

36 x 422

15,192

0

29,073

33 x 881
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Lattice Multiplication (J)

90 X

661

58 x

825

72 X

512

Use lattice multiplication to find each product.

9 1 5 7
4 7
2 4
8 2
91 x 428 = 57 x 742 =
4 5 7 0
5 5
4 5
4 8
45 x 544 = 70 x 558 =
3 3 4 7
1 7
3 7
A 1

82 x 826

67 x 333

61 x 980
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Lattice Multiplication (J) Answers

6 4

72 x 512
36,864

Use lattice multiplication to find each product.

9 1 5 7 8 2
3 70 4 3 4 7 6 1
3L 6l 4 a4, 5,/ 9 6, 4, 6
I 0 ) 2 /12 4 1 0
8 8| 2 21,70/ 8 7 6|/ 4
7 /10 3 I I ) 4 I
9, 2|/ 8 21,70/ 4 7 8| 2
4 8 9 4 3 2
01 x 428 = 57 x 742 = 82 x 826
38,948 42,294 67,732
4 5 7 0 6 7
2 ]2 5 3 10 5 1 2
207 0 5 3L 570 21,7 8 1
1 2 4 3 0 5 1 2
a7 6|,/ 0 9. 5, 0 217 8 1
1 2 4 5 /10 3 1 2
a7 6|,/ 0 o, 6,/ 0 3 8 1
8 0 6 0 1 1
45 x 544 = 70 x 558 = 67 x 333
24,480 39,060 22,311
3 3 24 47 S6 O1
00 711 VL 5|, 4 9
o, 31/ 3
Rl 2 /04 7 4 /10
NP 9 3 6 8 9 9 8 8
1 1 0 0 1 0 10
A5 5 4 21, 4 7 7 0 0
—5 3 7 8 0
. 47 x T71 = 61 x 980
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